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Client Question

Sr. No. D

Question Body and Alternatives

1 1 Cognitive development referred as
MY EFTT eUeTIER eTetTLIS ©

fM Educational development
sHevel auerjFH
éz Intellectual development
siffley eueTiEE

3 Family development

GO ueTIFSR

‘:A4 State development
LDMBleV eUeTIER
2 2 Learning is the acquisition of new behaviour as a result of experience" - was defined by :

2DILIGUSE T 60T lemaTelmey LIS L S60 560U 60 L_G60 HMHMEV 6T6oTLILI(HILD 6T6dTmI G nilULIGUIT ?

fM Henry P. Smith

Qameir P. suidl g
‘,/\2 Gardner Murphy

SMFLETT misLl

A3 Woodworth

2 @i
_A4 Robbinson and Horrocks
TrLeTEF 6T LDMHMILD QO IH&
3 3 The variable which can be manipulated is called as :

& WIMETE G g LI LOMHI&6T @)6UaUMTmI eSS LILGRMmS!.

! Independent Variable

seaflgs

2 Dependent Variable

Fmyy wmdl
53 Controlled Variable
S HUUGSSLILLL oml
4 Intervening Variable
@enLallement M
4 4 Which of the following is not the method of techniques used for the assessment of Personality ?
21EBmLNemW 3leTaill(BILD BiL LI (DemM&6T eTH6v LIWeTLGIGSLILILeTeveme ?
! Biographies
sw sflens
.AZ Case history method
SeoflWImeT 2,16 Lnenm

3 Rating scales

BT 3|6M6YC&HTev
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5 5
6 6
7 7
8 8

4 Meta cognition

M BH 660 115 516507 [} & 60

According to Peel, Educational Psychology is the
156V 6T6dTLIOU TSI SnMMILILILY, SHeval 2 6medlUIcy 6T6iT LIS :

1 Science of education
&H6vel onfleflwiey
2 Science of Psychology
2 _emailwiey 9inflafluiey
53 Art of Education
sevaflullwiey semev
;A4 Art of Psychology
2 arailwe 6w
The physical growth and development of an individual is conditioned by

62(1h S60t1Ln6vfl S 60l 60T 2_L 6L aUeTF&& emiu]Ld MM mmu&@smu_mm Blen 6Bl Si61S

_A ! Heredity

Lry
52 Environment
SHIQLILMLD
63 Nutrition
2_euoTeY

64 Heredity and Environment

DI OO &FOHDLILMLD
The two motives of man - egoistrical motive and althoistic motive was proposed by :

62 (15 L06oTl B 6vfl6tT @) T600T(h) Q& LI6L CIb T8> & MI&EITITET JLIH6V (LD6D60TLIL] LOMMILD QLIMSIHEV (LD6METLIL] (LN & 6916u
(WeTQWTAHSeuT Wy ?

él Hurtcheson
QL& eor
'AZ David Hume
GLal anfluyld
:A3 John Locke
QITET VTS
54 Thomas Hobbes
SITLO6N DTLIen

The three focal areas of Educational Psychology were :

sevall 2_emellwiefer epeiTa (&R W Gallw LIGH &eTTs: el 6mhi@LIen6 :

Al .
. Learner, Experiences, Teacher

SO, |60ILI6UMRIS6T, S flwiF
62 Pupil, Society, Teacher
LOIMEooTeU T, F(WS MWD, LA flwiy
3 People, Teacher, Pupil
10& 56T, AW, W0 mesoTeu [y

4 . .
Learner, Learning process, Environment

SHHUT, HHMEL QF WM, HMHM6V @LO6V
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When you perceive something when there is no stimulus. It is known as :
SirevorL_e960T) Lj6uetT ST Flem L] QLImIeUS :

{\1 Hallucination

QUITUI Ly6uedT &ITL G
A2

Illusion

Sl &TL&

"AB Perception

QLOUI Lj6vedT TG
64 Imagination
FTLIEVITSH 6V

Which one of the following methods is an example for multiple choice type of objective test question ?
esteuLd (pemmaserfley 6Th& eetTml Limeuwls s ey eletmell6dr eumiiLiL] U6 &H S &Te 6T(H & SIS &ML L MGLW0?

AI Recall
15U Lilg 60
‘,A2 Recognition
SIRG&HSS60
‘,A3 Re-learning

LD MI-&HMHMED

:A4 Recitation
QUITUILILITL LD

Self-actualization is a category of need.
H60T BleMMEnIG) 2_600T [T &6V QUEN S WIMET CHemel S, GLD.

:AI Physiological

2 L6 FMIHS
.'/\2 Security

LIMGISMTLIL| 6165)85 W TeoT
63 Socio - psychological
FeNG-2 6D FMTHS
Ad

Cognitive

Sipleurbmey

is an important speech defect in which the child is unable to pronounce correctly.

R (WHERW CUF&HSE GMUTH @H 6 GLbmswnars Fflwns 2 &&flés @ueumne CUMEGLD.
{U Lisping
LOLDEMEVEF QI F TV
.'AZ Slurring
NI B S Med & 560
"A3 Stuttering
Qs HMICLIGFSH6
64 Stammering

FERICLIFH

The process of growth and development is happened in .
QIETIES LDMHMILD (LNETEETMHM & UI6VLNENMLITETS! H6D)LGlLIMIAIG

Al Adolescence
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GLILULIBeULD
A2 Childhood
GLHEMG LD
53 Infancy stage
&Lpell Liaulb
;A4 Life long

QUTLDIBITET (LD(DEUSILD
14 14 The best method of controlling emotion is :

TR FR & &1 HLILG SSIaSMETeT FAMBHS LM :

:AI Sublimation

BlemeulnmMMLD (Sublimation)
.AZ Repression

3IL&H emeugh 60 (Repression)
;A3 Mental occupation

6T6UOT600T (&19.U9 (15 856M8 (Mental occupation)
54 Catharsis

2 qorJ&FF FMlenlo (Catharsis)

15 15 The term self-concept was orginally proposed by :
& W H(HSHS! 6T60TM GUTTSH MG 2_6voremoUl6L WITFmev (LPesT@omSwii’ L gi ?
'AI Lecky
QevEH

.AZ Donald Super

QLITeoTmeL(® @& LU
53 Ausubel
3I5QLI6L
’_A4 Kolhberg
CHMLGILITSH
16 16 Crime based neighbourhood is considered as a cause of mental illness.
GO FMTHS 2 600Ter)LWIFTSHET DeTCHITU gDHLUBSHS R SMIeollWNGS &HBSLILGSHMS.
_Al Psychological
2 arailuley
52 Physical
2 L6y

53 Social
FepG
54 Emotional
2 TIESF
17 17 is neither purely divergent nor purely convergent and always has elements of both.
eTeTLIS Gl b olevev afliflalld @i606v DMHMID 2iFI @) T60oT(H Fon MIGHEMETULD @& TETOTL Sl

Al Thinking
GG
.AZ Intelligence
5165016507 1 6
A3 Interest
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SpeuLd

54 Personality

24,@H60IL0

18 18 includes our current thoughts, whatever we are thinking about or experiencing at a given moment.
BLOG! HHELITENS LI 6T600T600T 5185 61T, HITLD 6TenGLILIMN et 6oTs S CMITGLOT {606V S!
@ILNGERCMTEIOT UG WIGIMENM 2_6TeTLSHEH LS.

fM Conscious
2_GUOT [J6) 6T6ITeU [T
62 Conscience
LneoTEF ML &)
A3 .
.~ Preconscious
(LDEBT 2_6T0T [T 6
‘,A4 Unconscious
LOW& S BI6m6V
19 19 The divergent thinking leads to :

Aiflbs FbseeT GLDEHEITL 6THMES aUleUGEGLD ?

fM Old ideas and concepts
LenPW &(BSSIH6T HMILD &([HSSISHHET 21, C60TEF 66)60T
2 Simple concepts and ideas

6T6rfl6m LD LITEDT & (H5SIH6T DMHMID 2, E6VTE 6 60T

A3 . . .
.~ New creations and inventions

LB W LemLLIL&6T mmih &esor(Llig L ser

54 Make confusion with old inventions

Lenipw SeorG LI LI &sefley GLoliLigeng allenemel s @Lb.

2020 Insight in other words can be understood as .
HEHETLFenll 2,5 LS50 &MeTereui.

"Al Sudden awakening of thought

FieF FHHemer e1(p&F
:A2 Delayed awakening of thought
BTG FbS e eT(EF
3 forceful awakening of thought
allenF G Rbsener 6rpadd
4 planned behaviour change
SLLALL BLSMS LDTHMLD
2121 The experiment is a observation.

L1 G& Mg ement eT6iTLISI 62(H 2 MMICHTHHE) ,GLD.

Al Uncontrolled
S HUUmLHm
{\2 Controlled
SLOUUGSSILLL
:A3 Unconditioned

BlubSeeTWHM

‘_A4 Open
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23

24

25

26

22

23

24

25

26

BoHs
The psychologist viewed frustration as the major cause of aggression :

OGN 6 &S, CUBY HITEGH) QRH (LLHH W HITTEO0TLD &L 6T60TMI SoMIlWIGUIT :

AI Dollard

[ GG
fAz Baron
U@ mest
_AB Newman
BlWy,L068T
;A4 Geddes
SECL L6
Rote memorization can be avoided by using .

WL LWeTUBHSSIUSTE GWBL B LDETLILITL G608 S6ilJ&H s (LIguLd.

"Al Hints

SOl ST
'AZ Examples
2_&ITIT600T 61 & 61T
fA3 Teaching aids
&HLNSSH6 2_Fel 6T
_A4 Books
ULl Y& &S mIG6T

Individual's ability to grasp all the object inside the room is called :

24 WIEBIET 2_6T6T 9 emeTE S QUIMIBLSHETW D 2 LS TH &R 6orm 6 (Heuifler SHmeor :

:AI Attention

H6UETLD
62 Perception
6007 (5) 600T (7 6
3 Span of Attention
Heuer efFar
4 Sensation
2 6001 6
Problem solving method is an example for which one ?

N8 56060788 60T S176) 6T60T LIS 6T&H M & TEUT 2_GITFeuorid ?

1 Learning by Trial and Error

Wwetm el &Hmev
{\2 Learning by Classical Conditioning
LIGOLDEDLD 24,58 Bleneul IS5 e &MHMmey
3 Learning by Insight
2 _aTQermer auflé &Hmey
‘_A4 Learning by Operant Conditioning
SGHANFTT 95,68 Bl MISHE SHM6Y
The aptitude of an individual at a particular moment mostly depends on :

62 Lol Geofledr BT L omeotsl GMILNL L Semrmhisefley &MTHEH GLLS! :

A1l Environment and Education
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30

27

28

29

30

&LBlemev LDMHMILD &evedl
52 Skill and Environment
ST O GLhBlen6v
3 Heredity and Environment
LIY LOMILD GBI
4 Heredity and Skill
WY HOID Emet

Emotional disturbances of adolescents can be helped to balance through :
GLILLGSH 6T aTEal (DS @)L W,misGm6T FBlamaliILGSS 2 5a|b aull

Individual guidance
seofllpUT auflaml L6y
62 Group guidance
SW &I L6y
3 Directive counselling
QBUIFT] Sirfleyenls USTSE
4 Eclectic counselling
FLOTF ANleeTLl LISFTSH60
If the child does not have insight and his reasoning proceeds in :

2(h GLHMSHEHES 2 6TQ6Tmer @6V6euTs CLIMS! 3I&60T &MTI6TOMISE6 GeualmTm QGTLIHMS! :

fM Different direction

Geoum Hemauilev

A2 Slow manner

QLOZIAUTET 66t & Udl6y

63 Trial and Error

(LPWETDI HHDHEL

A4 -
. Inappropriation

QAUTBSHLOD!
A maladjusted child is .
ABOILIDYD GlBng eeTUS!

fM able to grasp concepts easily

&(H5 BI85 56m6T eTeflFHlev 2 L Q& Meuorjel
52 not able to study well
[BEOTMMTE LILG.8 8 (DL WLITEmLD
é3 unable to maintain balance with the environment
SFHOILMSSILET FLOBlenelILU® SS (LOIQWITEnLD
54 able to manage home environment only

&BH DL @GLDBlem6vem L 60 & LIMETE S

Motives are expressions of a person's .

& BLN6T —— QelefiLTH &6iT 2e186:H &6/ 21, GLD.

! Interest
Sy 6uS S 6ar
52 Needs

G5 606186 60T
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53 Intelligence

5l 6v0r600T 1) 6l 65T

4 Creativity
24,6888 meofleor

31|t WL Nevs & emrs S e “o1q. erettml GICILILLILGeus WL QUIBSSS!.

,Al umLev eurflaerfledr erevorevot]&:emas

52 G g erfleor erevoreolden
A3 . . .
7 Qg menLsserfledT eTetoTenol] 8 6m 8

,A4 560161155611 60T 6T600T60011 5560) 5

32 32

@QBHTNLNT @BUSASL(H BTETHET Q&ML TL L LG 6USTSH Famild @6EHWLD 6Tal ?

fM L0600 LD &5 60Y6V

fAz FelILUGH &HTTLD
A

’ 3 uglumLev

A4
. UDbTeny

33|33 BT ST L e6ilLIMkI& 66T STEOTMI S{EMLOLILIT.

Al oyuflés QuUlaTorig i

52 QIMLLIJ QLIS 6voTLq I

3 uUemy Quuilevorig i
Ad . R
: s &Nl 60T QLU 6ToTLg MBI
34 |34 @S QUM allameaTILEGHCW QAFTLEMHALIWITTSE :
A aBrnmns asmdnaLws

A2 . . .
. wsailoa Biflbs QgmhhauwT

:A3 Wwaallames QsmlHeuWF

54 69161607 LI TGV 6)600T | LD @ LIWIT

35|35 FaD: 1 - UGS SIHET &, &, &, L LHW BTeTEGLD QLTSS WSe96 aumLD.

FaHmi: 2 - Blemev QLMWL 63T LietorTem & U6l Sjeummletr QLOUIQ WIS SIS 6T G 6T ML L|6uoT TSI,

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

Al gaioi 1 &l sapo 2 &1l

A2 . .
. sapmi 1 &l sadhmi 2 Heug

A3 . .
. eabho 1 Seugy; saphm 2 &1

A4 . .
. &bl Sl DMl 2 Hel0

36 |36 GHMEMeULILILD NG LD LMGILneuol& s evoremild’ eTestm eurflufed @)L b@LMID LoD ©

Al - .
7 Qo Lig ot

A2 . :
. LIuJedr LG Lo

,A3 aflemeorLiLIg LOLD
,A4 2 (LU LOLD
37|37 'SUILISS L1 GLITEIT LG & TET eTeiTenilh [FTeUeneul! LIenL &S el :

fM Ca M6 (&L LSITTeoT

A2 L
.7 @& HLeoT

f\3 BM&al epLdl

:A4 LSl LILN &5 6o
38 |38 'S S TGO (D' TTM NS SLILIGIIS :
Al

SHMEHTF MGHTFBMST CaHmailey

52 ngieny Werml SAwiblner Gsmalley

,A3 LDMDEVEVLTLD SLMH&MT G mellev

:A4 Fepeng Quiflw Camailey
939 “GUEFLILGQSID CHLSLILIG6USIGL 2 _6UoTenLDLLITeT QoMY eTedTmI Fo mluieu :
;M 5 ([5.69.5.
A2 b

,A3 LI6ueuoT5G) (Lp6ufleury

A4 QG eT
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40

41

42

43

44

40

41

4

43

44

'‘GRLPEUSILD G5 L_eILD' 6T6dTM BIeS6dT 2 G fluiy Wiy ?
Al g sveeurs
A2 . . .
. eTfQleoteiul QamimGel
:A3 Qaqeved

A Lnr®

CRSHMT TN @ 6L FQF T HeiTeredleh H(HLD QUMTH6M6L GG QUTGBHSTHEUMDEN M Fn MIS:
A gensplanm

éz Qs fipleney

:A3 Ll Blemev

?4 TR T

'G&TLICVEL B ITLOLD' 6T6dTM BITeU6L FTHRSHW ST lBS QUDM 26001 () :

Al 2010

AZ 1991

A3 2002

A% 5006

BLG SUNESH T HaflEF UL TN FaMEHGLD FHIG @QVERWE FNTSHMGE MM MBS
AUMR &SI WenmMUNeL G LLILL L gBH &H6T @) 1HE8 G6U6or(h) LD 6T60TMI Fo NI (LDEITEOT 6T (LDSEVEIT :

1 .
epslET @Umegme

A2 . .
. GUIDIEBT ieToTeTT TSI T
A3 - R .
: Quilwely USsSeuFFeuld
A4 .
7 BemeuEpl & ([HeoTITHIS)
&5 3IM GUIGTens — @Hev @ L LD QLMD aIpaImIHmnus CHIs :
Al

LIMT6L aU(pelenlng)

A2 Gemr6mor U(peaLOS)
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A opy aigemin®

A4
7 &ITev elWeuemnd)

45 |45 LS DGQUTeT 2 (S STTnedmiss G eaufler g Uil UTHuNey Bleorm CLMEE STTerLomet GBI 6T ?

f\l NGerrss

A2 .
7 9benin

Q&M TeoTT

A3

_A4 GumedGwm

46 |46 Qumy @oB U6 UL eN6TT 6T S SISH6T:

Al
. or, Wit

A2

M oag

A4
LW, sy,

47|47 LIeTorem LU &Tev &606M WemmUil6h 'Geous S medT 6Teur 6P SLILIGILIOIT W ?
A

: ! Lieiterfl @& (W&696v aupLIeUT

52 Lieiterfl&: &8 &6 _ S WIMs au@pLIeu

53 Ceug SHevallen s SmLIGIT
A4

SHUIBHESG 2 sl Qauiuely

48 |48 SULD oM@ FEeTTe "SLAD GLOWLD" eTedTm CUITH OIS &G WL :

Al .
. OIS eI

fAz 6U.8+LI. LDIT60oT1 &80
53 CFMO&KHST LIMTTH
,A4 GeausBMWSLD LN6Tener

49 |49 L9 6bTeu (B eueoTeU D MIET QSTLILNCVGVTS S 6Ta?
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Al B L.
. 2D 2 S50

A2 . .
L BUME Samed

A3 .
T 2 mieug) Sameb

:A4 @erQLm 2 g gHev

50 150 etreuLd &emeud Qe mmaerfley SaummeT @)eneuren s G5 H6 &M &S|

Al Befeor geelwiLd — Modern art

62 &m& g@ailwild — Cave paintings

A3 L .
&SHSHSILILIL LD — Cartoon

A4

&6V 6UL(H — Aesthetics

5151 'S BTSS! BE) et salleng Hreder oL@ w2

:Al AmU umeva UL FLemilwibd

ju &).8. [BL[JITF 60T

A3 .
. SIS hedevly

A4 . ..
. B.Ugeeniss
52 |Is2 LN etTeu(meueTmH 6T QLTLSUNGT (LDS6H Blemey eTeiTen ?

Al WSIUSID LI LILSID

_Az GU& G GHL_LIGILD

A3 . . .
LT U UUgin GuEeugln

:A4 G&LLIGID T SlagILD

53|53 HTeVld HIHS QUWGTEFLD 618 ?

Al L
. UeooTH S Q& Menss

:Az aNemests QS Met &

.A3 2 QIMLNG QS MTeNS

Ad 2 IDEOIDG QFH TS
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54 |54 elIyrae aflerdal] LIL6TLG S S W 6Ter 2 alemLn
j“ WwHBH
A oy By
:A3 Q&I OFLD
fM GBS LD
S5 |15 "eUBLIGUT eTeurTUNeLD [BedTn) G\ e s Si1"—eTeTml GeuesurBILIGUT W 2
A B eustepa
A g e
{\3 SILIGI6V &EVITLD
jM S|OTEM 6T QGHIFT
56 |56
CUMmESIS
(1) Gleusr - (i) S| (SHEFEETLD
(2) Fa - (ii) 2 WITeY
(3) Ge - (i)  =suT
(4) SOILD - (iv) sl
- (v) S EEULD
AL (i), @)-v), GG, (41-)
A2 (v, -, B, )G
A (1)), @A), GG, @i
é4 (D-(iii), (2)-(iv), (3)-(v), (4)-(ii)
ST |17 UTTEIWTT G\LI6TTS: 6585 M6 Gm6T GleussorLIT i W G &6t QLW :
:Al F& 0TS 60
A @nguwn
:A3 FCHFLAGHH TeiT
A4
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59

60

61

62

58

59

60

61

62

FHHymeuer

LUGUS 2 MILIL&EB6T SLBISTS gLOMaIS 2 MILILIMS UG LiMSSImILIL] :
f“ @)evLBlemey
A2

FHG
:AS srflenw

A4 -
. TWLssILGL

"RPEHG UTF 2 FWILD" eT6dTn FhIS6TFHEL 2 GHHOCFTLNET 6785660 2,e00T(HSHETTE BLSH eUBRMmITF ?

Ay

Ay

Beier LAD LOILOTFRES SH L LauF Wy ?

;41 S eueTerflwim
ju SailLoeoor]

:A3 &.5.QF60euLILIT
:A4 L1600T 19 & L0 6v0T ]

Find out the odd word from the following.
fM Small
?‘Z Meagre
f“ Plenty
A% Lile

During which of the following seasons trees stretch their leafy branches towards the sun ?
.Al

Autumn

2 Spring
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63

64

65

66

67

‘63 Summer

4 Winter

63 Choose the singular form of the underlined word :
I saw many geese in the park.

Al
. gosse
A2
. goose
A3

gooses

A4
. geese

64 Robert Frost, an American Poet noted for his .

1 L L. .
realistic descriptions of rural life.
2 realistic descriptions of nature and lakes

3 realistic descriptions of downtrodden people

A4 realistic descriptions of people born in the highest social class

65 Choose the correct option to complete the sentence.
The criminal the place before the police could reach.

! was escaping
52 had escaped

3. .
is escaping

A4 .
. will escape

66 Fiil in the blank with the correct word chosen from the options.
are 'a mixture of notices, advertisements, and invitations'. They are captivating and attractive.

! Posters

2 Slogans

63 Notices

54 Articles

67 Choose the reported form of the following sentence.

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Monica said, "I want to become a doctor"

! Monica said that she wants to become a doctor

2 Monica said that she is wanting to become a doctor

fA3 Monica said that she wanted to become a doctor

A4 Monica said that she will become a doctor

68 68 "I will take the cow to the market"
These words are uttered by

'AI Jack

A2 014 Man

_A3 Giant

54 Narrator

69 69 Fill in the blank with suitable homophone.
We have a short between the sessions.

_Al Brake

‘62 Break

A3

Breek

é4 Broken
70 70 Choose the author of the poem 'Sea Fever' from the options given.
‘,Al David Bates
?Az John Masefield
?M Edgar Albert Guest

4 George Krokos

71 71 Choose the correct pair of determiners for the given sentences.
I can't carry the luggage more. I need help.

1 many, any

some, many
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72

73

74

75

76

72

73

74

75

76

A3 any, some

some, some

_ luggageison___ platform.
Choose the appropriate articles.

fM a, the

64 the, the

What is the expanded form for the following abbreviation 'GST' ?

fM Goods and Social Tax

.'AZ Goods and Services Tax

63 Goods and Stock Tax

A4 Goods and Store Tax

A/An consists of three parts of :
(i) A topic sentence

(ii) Supporting details

(iii) A concluding sentence

fM Essay

2 Paragraph

3 Narration

64 Poem

The Nilgiri Mountain train travels through

,Al 208 Serpentine curves and 250 bridges

_Az 250 Serpentine curves and 250 bridges

53 280 Serpentine curves and 205 bridges
Ad

285 Serpentine curves and 258 bridges

Write the correct answer.
If T had studied, I the exam.
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77 77
78 78
79 79
80 80

fM Will pass

52 Would have passed

‘63 Would pass

4 Passed

Find the blended word for the following
Mechanics + Electronics
Al

Mechelectronics

62 Mechelec

53 Mechatronics

_A4 Mecelenics

Pick out the meaning of the idiom, "as busy as a hibernating bear."

! Being very hungry

A2 Putting oneself in dangerous position

53 Remaining Idle

4 Being Unsociable

Choose the correct syllabification for the given word
'utopia' :

Al .
) u-to-pi-a

A2 .
. ut-o-pi-a

A3 .
. uto-pi-a

A4 .
) ut-op-1-a

What is the logical sequence for these words?
1. Caterpillar

2.Egg

3. Butterfly

4. Pupa

Al gz

A2 10,43
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A3 1423

A o143

81 81 The pair of words 'bat/bat' belongs to :

! Homonyms

62 Homophones

53 Homographs

4 Synonyms

82 82 Choose the correct meaning for the underlined idiom from the sentences given below.
I have done more than my share in this partnership. The ball is in your court to decide what happens next.

Turn to make a decision

Al

2 The papers are before you

‘,/\3 Watch carefully

A4 A good chance to get something valuable

83 83 Scattered pieces of rubbish or remains are termed as :

Al
. waste

.AZ mortar

3 devastation
4 debris

84 84 Don't go by the word", he said. Here the phrasal verb "go by" means :

fM go by the side

A2 judge by
A3

follow by

.A4 get by

85 185 In a certain code language if KBOVBSZ is the code word for JANUARY , what is the code word for OCTOBER ?
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Al PDUPCFM

52 BDUPCFB

A3 ppUBCFS

A% ppUPCES

86 86 Fill in the blank with suitable homophones.
This medicine will your pain.

! Lesson

62 Lessen

3
Lessun
Lesen

87 187 "My Reminiscences" was written and published by

fM Rabindranath Tagore

fAz Aurobindo

53 Swami Vivekananda

4 Manoj Das

88 88 Choose the correct sentence from the following group :

! T cannot cope with this Pressure.

2 I cannot cope up with this Pressure

:AB 1 cannot copes with this Pressure

4 I cannot cope this Pressure.
89 89 Pick out the correct homonym from the given words.
Al Yind
‘:A2 tear
1.43

night

A4 stare



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

90 90 Choose the correct expanded form of the Abbreviation NMMS'.

! National Means Cum Merit Scholarship.

62 National Merit Cum Means Scholarship.

{\3 National Minimum and Maximum Scholarship.

54 National Merit Cum Matured Scholarship.

91 91
The range of the following distribution

Age [yrs) : 12-18 18-24 24-30 30-346 36-42
No. of persons : 0 13 17 28 0

LNeiTen(mid efleuTmis EhEETeT sliss ©

suwigy (e evoT(hlassflsn) : 12-18 18-24 24-30 30-36 35-42
BUT&siflsiT eTesoTensfemas © 0 13 17 28 0

30

24

A3

24
Ad gy
54

92 92 The mean of 13 numbers is 30. If each number is multiplied by 6, then the new mean is :

13 syeyserfler &maifl 30 6Tevfley, REIQAIMTH HFEMEULILD 6 3460 QLIBES PenL &G0 LS W sreyssefler srmai] :

Al 40
240
AZ 159
180
A3 30
30
Ad 36
36
93 93

A rational number % where a and b are integers and b#0 is said to be in the

standard form if the only common factorofcand bis ;

% eTetTm sp(F ellElS (Lpm eTetoTernTTenT& (@) ki a WHmIb b SElWsnsy
(DWDEEET hHmIb bF0) FILL aulgsusSlsh GRHSTEL a wHmib b-T @GT
Clursi&smyesfl.

Al g
0

A2
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95

96

97

e

94

95

96

97

100

Total number of integers between 1 and 100 which are divisible neither by 2 nor by 5 is :
1 LDMHMILD 100 &@& @emLullev, 2 LDMHMILD 5 L6V QUG LIL TS 6T6U0TE 611 60T 6T600T600T 1856008 60T :

Al 4o

40
A% 50
50
A 60
60
Ad 3
30

In a distribution, the mean and mode are 98 and 53 respectively. Calculate the median.

@ Lyeueder ymar]l MM WEHEG WenmEW 98 LDMHMILD 53 SLEGLD. @)L BlE0I6 66y &T600TE.

Al 55

75
AZ g3
83
A3y

44

54 150
150
The sum of the deviations of the entries from the arithmetic mean is always

grrefluNelmhg omears g 2 miliL&erfler eMeud: & migerfler gn (560 G0,

Al

1
52<1
<1
A3
>1
Ay
0
x=5isa:

X=5 eTeTUIS :

fM straight line

CBI&HGHEM(H
A2 .
. circle
QI LLh
‘_A3 triangle
(P&GHTEorLD

A4
. square

FSITLH
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98 98 In how many years Rs. 100,000 at 5% p.a in simple interest increases to Rs. 1,17,500 ?
618 5601607 21,6007 (H) H 6160 D156V Rs. 100,000 26075l 5% p.a &60f] eul_19.udlev Rs. 117500 94,8 2_WIHLD.

_Al 3 years 4 months

3 ou,600T(H) 4 LOMG MBI 6T
2 3 years 6 months

3 @u600T(h) 6 LOITES MHIG 6T
3 3 years 9 months

3 u,600T(H) 9 LOMS MBI 6T

64 3 years 10 months

3 QL,600T(H) 10 DTG MG 6T

99 99 The average mark of 25 students was found to be 78.4. Later on, it was found that score of 96 was misread as 69. Find the correct mean of the

marks.
25 nmeooreuf&erfledr Frmeifl IDGLIQ LI6woT 78.4. @\MhI& 96 6T6dTM LG ILITETSI 69 6T60TE H6UMIGe0TE 6T(H&HELILIL L &I
gevor_ MWL L g 6160160, LD LIG)LI600TE: @15 &8 Teot &Fiflwimeor Frmelenuiss &mesorss.

Al 6548
68.48
A2 7948
79.48
A3 7978
79.78
A% 6858
68.58

100 100 The following are scores obtained by 7 players in a cricket match 10, 15, 17, 9, 2, 21, 23 then the median score is :

2 BlsEasL aflemnemwm_GIL CUMLIguley g efyiasefler Fars6r WwenmEw 10, 15,17, 9, 2, 21 HMILD 23
6T6uT16V, T60TE5 6rfl60T @) 6MLIBl 6016V 3166 :

10

211347442
211347 +/4

Al

101 101

125
125
A4 e

16

1021102 Fill in the blanks using any set of suitable numbers 8: __::  :3.
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QUMIBSSLOTET 6T600TSH6METE: BITLILIGS:  ::  :3
_Al 6,4
6,4
A2 46
4.6
A3 53
2,3
Ay,
3,2

103103 By selling an article for Rs. 7200, a shopkeeper loses 10%. What is the cost price of an article ?

2(h HEOLESITTT 625 QUUITIHEMET €. 7200 8@ elMHLIGTEV, SI6U[HEE 10% BLLLD gHLGHRMS!, 6Tevfl6L 28 60T
9| &5&6 606V 6T60T6OT ?

Al Rs. 7920
e 7920
A2 Rs. 8200
e 8200
A3 R 8480
. 8480
A4 s, 8000
e 8000

104 1104 Assertion(A): We can construct a rhombus when two of its diagonals are given.
Reason( R): Rhombus is a special quadrilateral with all sides are equal and diagonals cut at right angles.

FaHml -(A):@) (6 eLnenevelll LIS Q&MTHISSLILLLY (FE G CLIMS @b FMLFSITSHNS 66N T,

Fa DMl -(R): FTULISFSITLD 6T6lTLISI S{6ME0TSH S LIS SIS EHLD FLOLOMETSID LOMHMILD eNem6VailLLThIS 6T Q&FhIG S5 TS
QUL 19 5R&TETaIGID 2 ML W (B FMLIL BTH&HTLD L& LD.

'AI Both Assertion and reason are correct and (R) is the correct explanation for (A).

Fo.MHMI LDMHMILD STFesorid @ Fevor(h G &ifl InMmILD R eTedTLIS! A ulledr Filuimest eNlem&&INMEGLD .
‘62 Both Assertion and reason are correct and (R) is not the correct explanation for (A).

Fa MM LOHNID &TFeuorDd @ Fesor(HiGL &Fifl LMHMID R 6TeTLSI A & QUMBHSSOMM Jl6TeHOMEGLD .
_A3 Assertion is correct and reason is wrong.
Famm &ifl DHMILD SITFEOTLD &6l
':A4 Assertion is wrong and reason is correct.

Fa M HeUM DHMID &Tyeorn &ifl.

105 105
In friangle ABC, line |y, is a perpendicular bisector of BC, if BC=8 cm and SM = 3

cm then the value of CSis :

A

@
=
(e
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(&CsmemTid ABC s BC GlsiT soow s 5551565M([H) | 2L BC = 8 Gle.15, SM
=3 Gle.1B. stesflsv CS sTatTLISI

A

4Q&.18.

106 106 Suppose ten coins are tossed. Find the probability to get exactly two heads.
LIg S [BT600T LTI & 6T &ev0T L LILIGG e0Tmeot. FIfIWITE @)(H SHemeu&6T Hem L LILISMETET 518605561 60601 &IT600Ts.

Al 49
©1024

49

1024
A2 1013
© 1024

1013
1024

A3 7

ha
oo

)
<o

A4 45

107 1107 If the variance of the values x, y, z is 9 then find the standard deviation of the values x + 7,y +7,z+ 7 is :
X, ¥, z 6T60TM LOSLIL1 G660 LiFeumLILg 9 eTevflev x + 7,y + 7, z + 7 e16drm LS 1L & e60r B Lefleuda1n
Al
7

A2 5

108 108 How many Triangles are there in the given figure 2
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CerEssluull LSS 2 &Ter (WECETanTRIS 6T atmanflEanss :

169 109 Simplify : (8134

FHEGS.: (814
Al

27
A2 1

A3

A4 ]

110 [110
Match the following :

(@) 17448 M 12
(b) H.C.Fof36824 (2)  Coprimes
(€) LCM of 36 & 24 (3) Prime numbers
(d) 58 and 69 are (4) 72

(9) Divisible by 4 and 8
QummsEIS :
(@) 17448 12
(b) 36 mmIb 24 GeiT LB.GClLLET. 2) FITTUSIT 6T606TSH 6T
(c) 36 WmmIh 24 Gleir L6.£l.Lo. (3) UI&IT 6TE0uT&S6T
(d) 58 wmhmib 69 sy Elwensuy (4 72

(3] 4 wOHmID 8 =4,60 suEGHL(HID

AL @-5), 014, ©-(1), (@-3)
@-(5). (0)-(4), ©(1), (@)-3)
A2 @H(5). (01, (0)-4). (@-2)
@-(5). (b1, (©-4), (d-(2)
A @), 016). ©-(1). (@-45)
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111

112

113

111

112

113

(@)-4), (5)-3), ©-(1), (@)-(5)
A @H5). 0D, (©-4), (@-3)
@), (B)-(1), (©)-(4), (d)-(3)

In the given figure, if QY| | AT, what is YT and AT 2

T

6 4

BE—F—06 1 A

SUUL (Bemer UL &Hleol[hg OY | | AT eTatfled , YT LDMHMD AT-65T LDSICIL
616016012

Al 1416
14,16
A2 1618
16,18
A 1614
16,14
A% 18 16

18,16
Find the greatest common divisor of 422 + 2a and 4a2 -1.

4a2 + 2a, 4221 LS. QILIIT.6U &T60OTE.

fM 4a+2
4a+2
?2 4a-2
4a-2
53 2a+1
2a+1
A% e

2a-1

If A and B are two independent events such that P(B) = 0.5 and P(AUB) = 0.7, find P(A).
A wmmih B #mlileur Blsb & e erenflév P(B) = 0.5 ommubd P(AUB) = 0.7. P(A) £ smesors :

Al 5
P2
=
2
A2 2
S
=
5
A3 5
Cow
=
7

A4
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|~ |~

114 114 If length of diagonals of rhombus are 10 cm and 24 cm then find length of one side .
Q(h FTLEFSITSH 60 eLpenevalll LGS 60T BemmIGET 10 Q& .15 nMHMILD 24 Q& .15 6T6u1160 DS 60T R LIS |66 :

fM 13 cm

13 Q&.18

‘52 17 cm
17 Q& .18
{\3 26 cm
26 QF.L8
‘,/\4 34 cm
34 Q&8

s |1is 645 x 721520415 —

64°x7213 + 2415 g1 D@L =
Al i
1214
AZ s
1215
A3 o
1216
A4 1p17

1217

16 116 If the word MEDICINE is coded as QITHMGMRI, how will TEACHER as coded ?

@ GOUULL GMlufh Gumguiléy MEDICINE 6T6Tm aUMi&eng QIHMGMRI 6fer DM GMl&&UILL G 2_6Tens!
6166fl60 TEACHER 6T&BliLD GUMTT&60 & eTelaUmml G ml&&eurTLn ?

Al XEGILIV
XEGILIV
A2 XIEGLIV
XIEGLIV
A3 XILGELI
XILGELI
A YELGIIV
XELGIIV

n7 7 The base of the parallelogram is thrice its height. If the area is 192 sq.cm. Find the base and height in cm.
2 @) 60600TSH:IHH 6T 2119 LILIG S 0TETS! 2|&60T 2 WIS enG LI GLIMV eLN6iTMI DL IS T&H 6D 2&H6T LITLILIETE] 192
F.08.15 9,56 1D @BLILIET , 919 LIL&SSHSMSWLD , 2 WTSHSWD Q& .15 -uleL &Teoras :-

Al 20,16
20, 16
A2 45 10
15, 10
A3 1512
18, 12

Ao

24,8


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaeM

118

119

120

121

118

119

120

121

Evaluate : 1500+(1502+{T00x3-176+4}]

wHPes: 1500+[150x2+{T00x3-176+4}|

Al 2054
2054
A2 2052
2052
A3 9050
2050

A4 9056

2056

IfP(E) + P(E') =1, then :
P(E) + P(E') = 1 eTevf16V
fM E and E' are same events

E Wb E' Wb G BlasLh &R se6i
fAz E and E' are impossible events

E WD E' WLD LSS @) W6V B&Lh&ER g6l
fA3 E and E' are not events

E Wb E' WLD Bl&LpFR &6 96v6v
A4

E and E' are complementary events

E Wb E' wyib Blyliy Bl&phe&f seir

1
1 liii]
By how much does Tt exceed S 2
1)
i
10 Al = .3
N -g0 el 01 6TEUELETEL| HHIHLD ?
[
Al 12
’ 11
12
11
A2 n
)
11
2
A3 10
m
10
11
A
10
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123

124

e

122

123

124

For ohmic devices the slope of the voltage current graph gives :

\

e aflfl&EE 2 Lufib smellullansniw Wsmampssh wHmih WerGstmir
suenTUL S EletT Fiflay H(meug :

Resistance
LGS e
‘:\2 Resistivity
LOl6BT S ML 6TE00T
:A3 Conductivity
L0 63TE LG &l 6Tev0T
"A4 Conductance
10 60TE L& 81 Hmedr

Apparent weightlessness is due to :

GHTMHM 6760 L_UNLPLIL| 6T6OTLIS 60T SIQ LILIeML LOMMILGSH M :

:Al Change in mass

Blemm LMmILITL L M6V
62 Change in gravity
FFFLILNUIG) LDMmILITL L6V
‘_A3 Change in size of object

QUMTB6 60T 36Tey LOMMILITL L M6V
'A4 Charge present in it

21560 LOl60TE 60 LO LLITEV

A sound wave have a frequency of 2 kHz and wavelength 15 cm. How much time will it take to travel 1.5 km ?
2(H 5260 316m6LUNET 21H TG 6u6ToT 2 kHz LOMMILD e6VIBETID 15 cm 6T6vf16V, 1.5 km STTSHNSEH HL &S S
T(HSSIHO&HMETEBLD &ITEVLD 6T60T6T ?

fM 5 hours
5 Lnevof]
2 5 minutes
5 BIALLD
"A3 5 days
5 BT &6
4 5 second

5 el GurITIq & 6T

Convert 90° into radian :
90° 6TedTLIEN S GIFLUIEDTTE DMMHMIG :
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Al

A2 3¢

A3

|

N

A4

ro A

ro A

125 125 A distant star emit radiation with maximum intensity at 350 nm. The temperature of the star is :
QUG QG TemevellsviaTer 6l 6uor L6oTTeoT&! 350 nm 66V BeTEHH 6V QLIHEF QFMle] Q& meTL &H TaldFamns
2 IR Ma eTevf6L 3y6u6 6vorLS6T QeuLILIBlem6 :

Al gr80K
8280 K
A2 000K
5000 K
A3 260K
7260 K

9044 K

A4

9044 K

126 126 Select the correct pair.
Filwmer @emenTenws CHIHOSH &S :

‘51 Dentist - Convex lens
L6V DS SIeNT - &6 6v6iTar
A2 Rear view mirrors in vehicles - Convex mirror

61T 60T 118611 60T L9 60T G 60T T8> (G 85 600T6u0TTIY. - GG WITLY

‘,/\3 Galilean Telescope - Concave mirror

&560608WT Q5TmaCHTEHER - GUIwmg
54 Camera - Concave lens
seflliLL&&ma - GG 6eveTa
127 127 In which part of human ear pressure variations of sound wave are turned into electrical signals :

weflg &TH6T 6THS LGB U6 260 2166086 L6 MEFMSBHETTES LTHOLILGR S ?

fM Outer ear
Qeuefl& s
‘:A2 Earcanal
QFall&GLomul
53 Cochlea
Smaeflwim
',/\4 Tympanic membrane

QaailliLenm

128 128 The size of the ions is important to determine their behaviours :
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2| W 6ol 561l 60T 2_(HeUETEUTEITS! 6785 60T @) W6VemLI 6 6T& G LD ?

:AI In Solvent

60T LILITe0T
62 In Solution
560 J&F 6V

"A3 In Gaseous

eumu
A% 11 Solids
)euorLoLh
129 1129 Methyl acetate is functional isomer of .
QST 6L SR CLL 96T allenardFQFwe QSTSGS MOl @i,
1 Propanol
LriLIeoTey
2 Propanone
Ly LILGeor medt
3 Propanoic acid
yoliuermuils odflevtb
‘_A4 I - propanol
I - 4yUueormey

130 130 Froth floatation method of concentration of ore is based on :

SMsiemal SILFLI&GMD Bieny WL (WwenmuleT SHsl6llD :

Al Specific gravity of ore

srgieiler LI5S
:Az Wettability of ore in oil
SE1e06) 6T600TGl600TUN GV FFTLILI(D &S5 60
3 Magnetic property of ore
SM16N 60T HMHS LI6ooTL|
‘:A4 Solubility of ore in a solvent
SMG SenJLILITET60 &6myLd & meor

131 131 Which is the strongest acid in the following ?
G Lh& 6oL eummIaT euedlenin WGHS fleuid 6151 ?

Al CH;-COOH

CH;-COOH
A2 CICH,-COOH
CICH,-COOH
A3 C1,CH-COOH
Cl,CH-COOH
A4 clyc-cooH
ClyC-COOH

132 132 Hardness of water can be removed by passing through an ion - exchange bed like zeolite. Zeolite General formula :
uwienfl uflinmdm e mulley Hil6or &9 6078 HedTemneml H88 LiwedrLI(H D FIGUITEn6VL 1960 GlLITSI6UTeoT
ePVGHTFa Ml eUTWILILTG).

Al Na0 . ALO; . x Si0, .y H,0
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135

136

e

133

134

135

136

NaO . Al,Oj . x SiO; . y H,0
A2 Na0, . ALO; . x $i0; . y H0
Na0, . AlL,O3 . x SiO3 . y H,0
A3 Na0, . ALO, . x S0, . y Hy0
NaO, . ALO, . x S0, . y H,0
A% N0, . AlyO3 . x S0, . y Hy0
NaO, . ALO; . x SiO; . y H,0

The symbol of the Elements with atomic No. 38 and 56 are and

91600 6T600T 38 LDMMILD 56 Q& TewoTL Gevflnmigerlerr GnluibiaeT WwenmEuw

fM Rhand La

Rh LOMMILD La
52 Krand Ba

Kr Lommild Ba
53 Srand Ba

Sr LOMMILD Ba
54 Ruand Y

Ru LOHMILD Y

The constitutent elements present in Pyroargyrite are :
UITISlenNTLI60 24,558 FoMI&H6TTS 2_6T6T S60lIL0MmIGET :

'AI Silver, Antimony and Sulphur
Flevally, 21,60r1q neof] MHMILD F6ULIT
A2 Silver, Arsenic and Sulphur

Fevauly, oL JFeoll& MmILD FevLIT
:A3 Silver, lead and Chlorine
Fevauly, Qevl_ nmHmid &SGermiflesr
A% Silver and Sulphur
Fleveu LMHMILD FeoLIT

element has a greater tendency to form a catenation.

SeoflDlD 95 &H6T6| FHIFENS QSTLNT 2 ([HaUTdHGLD.

:Al Lead
Qv
AZ Tin

19.637
A Silicon
Flel g meir
54 Carbon

ST LI6T

In Pistia instead of root cap what is present :

respectively.

N6 uim SrairsHev CallJ (NINF&&HEH5E LIS 6TS 6%l Smeor LGB ma! ?

! Root tip
Geuly mieufl
52 Root Pocket

GoulJ LIGH6T

_ wpowb_ .
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A3 Root hair

Geury gredl

54 Root Nodules

Gouly (NI &F&

137137 The thylakoid contain small rounded photosynthetic units called

MBS TUIMH &H6lev 2_6Tam ANl aul L aulgeilnmer ReflFCFI&heamas 2G5S GTEOTMI QLI

:Al Ribosomes

TCUMTGFMDG6T

;AZ Nucleosomes
BlwEHeNCWT GFMDa6T

63 Quantosomes
&6UMevoTL_CF ITLD&H 6T

4 Lysosomes
MEVBFTBFTLDSET

138 138 In Bougainvillea to attract the insects the following part become coloured :

LLFRHm6T HallHHWLILSNHHTE HTHSLILLEN6 GLDE&HETL LIS 61 6U0T60T (L0 60 LIS TH
LOTHMLOEL HSIETENSI :

fAl Corolla
916069 euL_L LD
;AZ Calyx
Lj6ved aul_LLd

3 Bracts

LLeuly FQFHev
54 Flower
o6V

139 139
Which of the following matches is comect 2

{a) | Orthotropous i) | Common in dicot and
monocot

(b} | Anatropous fii) | Cactaceae

(c) | Amphitropous (i) | Piperaceae

(d] | Circinotropous (iv) | Alismataceae

&G CErhlssiul Herersumpiley Fiflwmest @lemewT sTemeu ?

(a) | CETEsL (i) | Glumbumeumsst
sp(mallen s uilensn
LOMMILD
B)mefilemzullensy

(b) | BsnauED (i) | =r&GLS

(c) | @b Crmusiv (iii) | soLLGTH

(d) | FTACesrm Gymustv (iv) | =165l GLE

AL (@) (i), (b) - (), ) - (1), (@) - (i)
(@ - i), () - (), (€) - (). (@) - (i)
(@ - (i), () - (i), (©) - (iv), (@) - (i)
(@ - (i), () - (), (©) - (iv), (@) - (i)
(@) - i), (0) - (id. (©) - (i), (@) - ()
(@ - (i), () - i, (©) - (iv), (@ - ()
(@) - (iv), (b) - (i), (©) - (), (@) - Gi)
(@) - (iv), (b) - (i), () - (), (@) - (i)

A2
A3
A4

140 140
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Matech the following and find the correct option given below :

(a) | Fruit develops from bicarpellary i) | Capsule
syncarpous, superior ovary, inifially one
chambered but becomes two
chambered due to the formation of
false septum

(b) | Fruit develops from multi-carpellary, {ii} | Siliqua
syncarpous, superior ovary
[e) | Fruit develops from monocarpellary, fiii) | Pod
superior ovary and dehisces along one
suture

(d] | Fruit develops from monocarpellary, (iv] | Follicle
superior ovary and dehisces along two
sutures

#1p Clanflésiul Hsmer @ensmrenw Clumms s sflwms sllemLsnw
Cainllsplsseab :

(a) | @&meuf] Gosbinl L & (Heuastianuuslsir | (i) | Clsugsssfl
@evewios B @608 Geney
GeuasHletlmba CorermidlsTngi.
S, TDLIS S0 pif Slemmeniyb LT ssT
QuUMLE HHINLFHeurT

G meiTm]suSEuTTed FFsmm GlLmm)
Cammmiosla gD

(b) | @&&enf] Gosb L& Geuslamuuller | (i) | Fedl&@Esur
@) emeTEThES LISV (Fx608 @lsmeu
GasSl Glhhal Carsrnifngl.
(c] | @&aest] Gusuwl L& @eustisnullest | (i) | CibHmi& et
R G505 Geney GHeoussSledlGhHe
Comeirm) &leiimnsot. seoflulleir sp(m
aflsrfliby @ emsmriiiley ol (b
Glaulg & &lstTm ST

(d) | @&sefl CosinlL & Heostanuwiler | (iv) | @mum Cleuysesfl
R (B (EH0E Glemevuilebl(Hhs)
ComsstmidletTm ). sesfluSleT @)(m
eflerflibL) @lenemTiiLSEerlguib
Cleu s ElsTmE).

A @ - i) (0) - (), ©) - (i), (@) - G
(@) - (i), () - (D). (©) - (V). (&) - (i)
A2 @ - i), () - (V). (©) - (). (@) - G
(@ - (i, (b) - (), (©) - (), (@) - (i)
A (@)= ). ) - G, (©) - ). (@ - ()
(@ - (iv), () - (i), (©) - i), (@ - ()
A% (@) - 0, 0) - G, ) - G, (@) - (iv)
(@ - Q) (b) - i), (©) - (). (@) - (iv)

141 141 Genetically modified Golden rice can prevent vitamin deficiency.
DL ITHMD QLWL L G&meuLer NG 6Ths eneul LA GammUTLenl & Sl GLD ?

fM Vitamin A
emeul L LAl A
52 Vitamin B1
em6uL L LAl6dT Bl
63 Vitamin C
emeuL L LAledr C
é4 Vitamin D
emeUL L LAl6dT D
142 142 Entry of minerals in plants take place in two steps.

Step I : Minerals enter into the root through cytoplasm of epidermal cell.

Step II : From the root minerals are transported to all parts.

The above steps takes place with help of the following process.

smeurmhigerfley &eoflomigeT @ Tevor® LG Bleneusefley 2 L QFaSmal.

Ly Blenev -1: UMSCH T QFcserfler g CLmLeTma b eullwims &eoflnmiger Ceurflh &6 QF R M.
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144

145

146

143

144

145

146

g Blemev - 11 : GeuifleS b S &6oflL0MhIS 6T SMeuy kI er 60T eSS LIGH&HEHHGD QFRMS!.
GBS TEILD (LPEDMSHET eLOEVLNTE DM & TEBILD LI HleM6eV&s 6T BlIGLE M.

Al Step-I Passive Transport,
: Step-1I Active Transport

LI Blemeu - - SLMHM6Y EMIT HL5 51560
U Blemev - Il —2L,MM6L &MY &L &S1560

A2 Step-I Active Transport
: Step-II Transpiration Pull

LI Blemev - - SLMM6Y FMY &L 55156
Uigmplemev - 11 - Brmeills CuTEH e @ wellens

A3 Step-I Transpiration pull
: Step-II Passive Transport

U Blemev - 1- Bymeilll GUTESR 6T @) wellens
LIQBlemev - 11 - QL,MMeL FMIIT &L &SI 60

A4 Step-I Active Transport
1 Step-II Passive Transport

LIQBlemev - 1 - QL MHmev &M &L &S5 60
LG Blem6v - 11 - QLMHMeL FMTIT &L&SIH60

Incubation period of Filariasis is :

SUGeWIM L(wpell6T oL &MEGLD &ITeuld :

fM 1-2 days
1-2 BITL&6T

52 2 -3 weeks

2 -3 QUMM &6T
53 2 - 3 years
2 -3 QUL BIGET
54 8 - 16 months

8 - 16 LOIT& MG 6T

Deficient blood supply to the heart is called :
QBWS HMFHEHEHEGS GMMAUTET @S5S @ LD QFMaSE6 Gelalmm mpsELILGRMS! :

! Myocardial infarction

QBWSHZHMmE BE D GHTUI
52 Ischemia
@ev@Awim
3 Plaque

LGemss
64 Heart attack
LOmFemLLiL]
Calcitriol is secreted by proximal tubules of nephron, it promotes absorption of :
QB&LITTesfleL &TeuoTLILIBHILD 2J6WTemL0g & (BTl G606 HIEHGWD HMTLF LG 6Tens 2 L RTH LIS
aflsLuGsaH D ?

?M Calcium and Iodine

ST WILD LDMMILD | GUITIQ 63T
_Az Sodium and Phosphorous
G&FIMIQWILD OMHMILD LITENLIF6eN
A3 Phosphorous and Potassium

LIMehuLIFeny InMmMmih QUL Lr& i
fA4 Calcium and Phosphorous

ST WD LDMHMILD LITeVLIT6en

Assertion (A) : E - wastes can causes severe health hazards like damages of nervous system and respiratory system.
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Reason (R) : Because E - wastes contain Lead, Cadmium, Mercury and Chromium.

Fa o : 10 eoTeoTem &80 &6 BHITLDL] LO6UOTL6ULD LOMMILD & 6UME LO6TTL6VE S 60 GLOMELDITET 2 L 6VH6VE
GOOUTRSm6T gHUGSSH DS

&ITT600TLD : G eor6ntl6v Ll edTeoTenml &Ll &erfleL &mifwild, S, UMD Hmid GErmulwid 2 6Tergl.

fM If (A) is true but (R) is false.
FoM Ml &l SLe0TMT6Y SHITF6TOTLD &6 mi
..AZ If both (A) and (R) are true but (R) is not the correct explanation for (A).

Fa MM LOHMILD STFETD &Fifl, 86076V ST Sa MG S TeT Fiflwiment allens&Lnev6v

'AS If both (A) and (R) are false.

FnH DI, STI600TLD @) J6vor(hLD &6umy
fA4 If both (A) and (R) are true and (R) is correct explanation for (A).
Fa MM DHAID STFeord Fifl, HTTerd g mmler &ilwimer eNlemd:ah 9@ LD.

147 1147 Which of the following sequence is correct for the Lysosomes ?
L edreumedeoTel HmieT emeuCFTEa T LmMw sflwmer eauflens ergi ?

! Nuclear membrane — Golgi complex — Lysosome

2 L& Fela| — CHMeVens 2 MILIL| — e0euCFTCFTID
'A2 Endoplasmic Reticulum — Vacuoles — Lysosome
etevor L TLlem e euemevLiLNedTenrev — GLILD&ET — VEFTCFTID
"A3 Endoplasmic Reticulum — Golgi complex — Lysosome
etevor QL TLlem e euemeuL LI 6dTeoTev — G&HMTELENS 2 MILIL| — MELVEFTGEFTLD
A4

Mitochondria — Golgi complex — Lysosome

L GLmsmevorieflm — C&Hmeuems 2 MILIL| — e06VCFTCFTD

148 148 Find out the correct pair :

Fiflwmer samenm CHIHASHSSHELD :

! Acoelomates - Roundworm

2 LG SIDmenel - 2 BeneLiL (D& &6t
62 Pseudocoelomates - Frog

Qumiwimest 2 L MG - Seuemerm

3 Eucoelomates - Tapeworm

2_6oTemLOW MeoT 2 L M&L - BITLITLILWD
'A4 Coelomates - earth worm
2 L MG 260 UIEm6 - LDETOTL| (D
149 149 As hormone suppresses the immune response, it is also known as stress combat hormones.

GBMUISHL& &ML QFwWeme L GHLLGSS Sl IS O & TeTEhID amiTTGLOTET 615! ?

fM Aldosterone

21,60GL M6 BT ITedT

52 Adrenalin

3jL_fleored 6ot
3 Cortisol

ST CFMeL
‘_A4 Adrenal androgen
3LfleoTev 2,607 GI ey 60T
150 /150 Find out the pathway of reflex arc :
jafldFens alley LiIMengeml &eoorL_ s :

Al Sense organ — sensory neuron — muscle — spinal cord — motor neuron
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2 6T 6 MILIL|S6T — 2_600T HITFIDL] QFVHET — HeOEFEET — SeuoT(HeUL LD — @) UGS HJLDL| ST

2 .
Sensory neuron — sense organ — spinal cord — muscle — motor neuron

2 60OTJ BIFLOL QFVSHET — 2_600T[J6Y MILIL|&H6T— FH60oT(Hl6UL LD — FHEMEFE6T — @)W &HSHBIILDLI&6T

3
Spinal cord — sense organ — sensory neuron — motor neuron — muscle

A4

FH600T(HEUL LD — 2 60T T MILIL|&HET— 2 600T[J BILDL QFVHET — @UISSHBILDLIGET — &eDF&H6T
Sense organ — sensory neuron — spinal cord — motor neuron — muscle

2 _6uoT 6y MILIL|SH6T— 2_600T[J BFLOL] QFVGHET — FHeooT(h6eUL LD — @) UGS BILDLI&HET — HEOFSHET
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